[ normalized x? probability |

Entries 0.07
0.06
0.05
0.04
10*3 L
0.03
0.02
0.0
o+R
T
@
09¥0—2"4 6 8 10 12 14 16 18 20 09%9"6.10.2 0.3 0.4 0.5 0.6 0.7 0.8
X Prob(x?)
m—a= DQM_V0001_R000000001_Global__mkFit_batchNO-100
== DQM_V0001_R000000001__Global__mkFit_batch16-100
A 2.5_
s [ :
c [ o
DS E A S A
\" : L4
15F
e
0.5+
r\- i 1 1 1
g+ ' y
T 1
@ 101
1= l ]
0.95 3
3= 1 0 72 3
n
A A -
k2 2 18f-
% < 1.6F-
\ v o
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
I} o GF
5 5
14 a4
0.5
C—3
10 1072

-1
AR(track, jelts)



	Contents
	Page 1


